Nhan s thap phan véi 10,100,1000

3,038 x 100 =

10,091 x 10 =

4,795 x 1000 =

10,753 x 10 =

8,196 x 10 =

8,542 x 100 =

8,178 x 100 =

10,16 x 10 =

9,42 x 100 =

5,172 x 10 =

Ngay thang: Diém:

3,351 x 10 =

4,749 x 10 =

4,812 x 100 =

1,768 x 10 =

9,933 x 100 =

3,542 x 100 =

3,004 x 1000 =

3,259 x 10 =

9,143 x 10 =

8,905 x 10 =
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Nhan sd thap phan véi 10,100,1000

3,038 x 100 = 303.8

10,091 x 10 = 100.91

4,795 x 1000 = 4795

10,753 x 10 = 107.53

8,196 x 10 = 81.96

8,542 x 100 = 854.2

8,178 x 100 = 817.8

10, 16 x 10 = 101.6

9,42 x 100 = 942

5,172 x 10 =51.72

Ngay thang: Piém:

3,351 x 10 =33.51

4,749 x 10 = 47.49

4,812 x 100 = 481.2

1,768 x 10 = 17.68

9,933 x 100 = 993.3

3,542 x 100 = 354.2

3,004 x 1000 = 3004

3,259 x 10 =32.59

9,143 x 10 =91.43

8,905 x 10 = 89.05
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